L E7 L B A L LR BRI
e %ﬁm@ m&&%r QMM&MWQWW%WW%%%WWWWWWWQOMQQ
g5 S I IS P I L P
B T e
ool oegesas e
=S e e CoCe s P Ce LS00 awED5C SO,
8PS0 00 L S e 805 Pe e, EooS@,
T ] S
SIS S T S SR
S I S
SRR )
S s
OB
I A PR ]
O
3 B
S oces
L A R
IR B
SIS T I F
ooces:

3
cooe,
oeo!
26,

2
HI3A 9 54
oo CooaCe,
LI I
ST

Algo Communication Products Ltd.

4500 Beedie Street
Burnaby, BC, V5J 5L2, Canada

www.algosolutions.com

Display Speaker
Installation Guide

View full user guides at algosolutions.com/quides/

Protective Cover - 8410 IP

1G-8410PC-06112024
support@algosolutions.com

90-00132




8410 Protective Cover

ABOUT

The Protective Cover - 8410 IP Display Speaker is a polycarbonate cover that
can be installed with the 8410 IP Display Speaker to protect the display screen
from accidental contact due to activities in the surrounding areas. The
protective cover can be installed before or after mounting the 8410.

The full user guide for the 8410 can be found on algosolutions.com/quide/.

Included

3/8” Polycarbonate Sheet (1)

Attachment Brackets (2)

6-32 Bracket Attachment Screws (4)

10-32 Polycarbonate Sheet Attachment Screws (4)
Size 10 Aluminum Spacers (4)

Important
This guide contains safety information which should be read
thoroughly before permanently installing the product.

1 INSTALLATION

Before installing, note that adding the 8410PC to an 8410 adds 3.3Ibs (1.5kg) to
the total weight of the 8410.

1. Ifthe 8410 is already mounted to the wall bracket, start by removing the 4
flat head mounting screws. The 8410 can be rested on the hook of the wall
bracket. If the 8410 is not mounted, skip this step and go to step 2.

2. Peel off the protective liners on both sides of the polycarbonate sheet.

IG-8410PC-06112024 support@algosolutions.com Page 1




8410 Protective Cover

3. Tighten the attachment bracket on each side of the 8410 and attach using
the 6-32 attachment screws. These screws thread directly into the 8410
wall bracket, securing the attachment brackets and 8410.

4. Install the polycarbonate sheet using the 10-32 attachment screws and

aluminum spacers. Ensure the rectangular cutout is aligned to the speaker
grill of the 8410.

fﬂ}_

IG-8410PC-06112024 support@algosolutions.com Page 2




ALGO

©2024 Algo Communication Products Ltd. | All Rights Reserved



